

NEW REPRESENTATION OF THE MITTAG-LEFFLER FUNCTION THROUGH THE EXPONENTIAL FUNCTIONS WITH RATIONAL DERIVATIVES

F.A. ALIEV^{1,*}, N.A. ALIEV¹, N.A. SAFAROVA^{1,*}

¹Baku State University, Institute of Applied Mathematics, Baku, Azerbaijan
 e-mail: f_aliev@yahoo.com, nihan.aliev@gmail.com, narchis2003@yahoo.com

ABSTRACT. In this paper the Mittag-Leffler function is given through the exponential functions for any rational derivatives of m/n order, where $m < n$, $n > 1$ are natural irreducible numbers (if $n = 1$ then m is also equal to unity). Unlike the previous papers the given formulas do not contain integrals.

1. INTRODUCTION

In recent years, more attention has been focused to the construction of solutions to the Cauchy problem and boundary value problems for fractional order differential equations [4–6]. The obtained results in this area are purely theoretical, i.e. or the existence or uniqueness of solutions of the corresponding problems are proved [7]. In [1–3] the analytical formula is given for solving the Cauchy problem for the fractional order linear differential equations with constant coefficients.

In this paper it is shown that the Mittag-Leffler function can be represented through an exponential function for the general case, i.e., when the order of the derivative is any regular rational number. This scheme allows to investigate the solution of the problem for fractional order differential equations, the step (derivatives) of which is less than one.

2. SOME TRANSFORMATIONS FOR THE MITTAG-LEFFLER FUNCTION WITH A SHEAR

As is known [4], the Mittag-Leffler function with a shear can be represented in the following form

$$h_{\frac{1}{n}}(x, \rho) = \sum_{k=0}^{\infty} \rho^k \frac{x^{-1 + \frac{k+1}{n}}}{(-1 + \frac{k+1}{n})!}, \quad x \geq x_0 > 0, \quad (1)$$

where n is natural number, x is real argument, $n \in \mathbb{N}$, $x \in \mathbb{R}$, $x \geq x_0 > 0$, $\rho \in \mathbb{C}$ - parameter.

It is easy to see from (1) that

$$D^{\frac{1}{n}} h_{\frac{1}{n}}(x, \rho) = \rho h_{\frac{1}{n}}(x, \rho). \quad (2)$$

Now we present the function (1) in the following form



*The authors of this paper were financially supported from the European Union's Horizon 2020 research and innovation programme under the Marie Skłodowska-Curie grant agreement No 873071 .

$$\begin{aligned}
 h_{\frac{1}{n}}(x, \rho) &= \frac{x^{-1+\frac{1}{n}}}{(-1+\frac{1}{n})!} + \rho \frac{x^{-1+\frac{2}{n}}}{(-1+\frac{2}{n})!} + \dots + \rho^{n-1} \frac{x^0}{0!} + \\
 &+ \rho^n \frac{x^{\frac{1}{n}}}{(\frac{1}{n})!} + \rho^{n+1} \frac{x^{\frac{2}{n}}}{(\frac{2}{n})!} + \dots + \rho^{2n-1} \frac{x}{1!} + \\
 &+ \rho^{2n} \frac{x^{1+\frac{1}{n}}}{(1+\frac{1}{n})!} + \rho^{2n+1} \frac{x^{1+\frac{2}{n}}}{(1+\frac{2}{n})!} + \dots + \rho^{3n-1} \frac{x^2}{1!} + \dots + \\
 &+ \rho^{sn} \frac{x^{s-1+\frac{1}{n}}}{(s-1+\frac{1}{n})!} + \rho^{sn+1} \frac{x^{s-1+\frac{2}{n}}}{(s-1+\frac{2}{n})!} + \dots + \rho^{(s+1)n-1} \frac{x^s}{s!} + \\
 &+ \dots \quad \dots \quad \dots \quad \dots \quad \dots \quad \dots \quad \dots \quad \dots \quad \dots
 \end{aligned} \tag{3}$$

Summing (3) over the corresponding columns, we get:

$$h_{\frac{1}{n}}(x, \rho) = J_0(x, \rho^n) + \rho J_1(x, \rho^n) + \dots + \rho^{n-1} J_{n-1}(x, \rho^n), \tag{4}$$

where

$$J_s(x, \rho^n) = \sum_{k=0}^{\infty} \rho^{kn} \frac{x^{-1+k+\frac{s+1}{n}}}{(-1+k+\frac{s+1}{n})!}, \quad s = \overline{0, n-1}. \tag{5}$$

The formula (4) enable to relate the Mittag-Leffler function with a shear via an exponential function. For this, it is sufficient to reduce the function $J_s(x, \rho^n)$ from (5) to an exponential function.

3. REDUCTION THE FUNCTION $J_s(x, \rho^n)$ TO AN EXPONENTIAL FUNCTION

Now consider the fractional derivative order $\frac{s+1}{n}$ of the function $J_s(x, \rho^n)$ from (5)

$$D^{\frac{s+1}{n}} J_s(x, \rho^n) = \rho^n \left(\frac{x^0}{0!} + \rho^n \frac{x}{1!} + \rho^{2n} \frac{x^2}{2!} + \dots \right) = \rho^n e^{\rho^n x}, \tag{6}$$

where, when obtaining (6), we took into account that $\frac{x^{-1}}{(-1)!} = \delta(x) = 0$ due to $x \geq x_0 > 0$.

Now we integrate the equality (6) with fractional order $\frac{s+1}{n}$

$$I_{x_0}^{\frac{s+1}{n}} D_{x_0}^{\frac{s+1}{n}} J_s(x, \rho^n) = \rho^n I_{x_0}^{\frac{s+1}{n}} e^{\rho^n x},$$

i.e., by the definition of the Riemann-Liouville fractional integral [4], we obtain

$$J_s(x, \rho^n) = \rho^n \int_{x_0}^x \frac{(x-t)^{\frac{s+1}{n}-1}}{(\frac{s+1}{n}-1)!} e^{\rho^n t} dt + \tilde{J}_s(x, \rho^n), \tag{7}$$

where

$$D_{x_0}^{\frac{s+1}{n}} \tilde{J}_s(x, \rho^n) = 0. \tag{8}$$

It is easy to see that from (8) the function $\tilde{J}_s(x, \rho^n)$ can be determined in the following form:

$$\tilde{J}_s(x, \rho^n) = e^{\rho^n x_0} \frac{x^{\frac{s+1}{n}-1}}{(\frac{s+1}{n}-1)!}. \tag{9}$$

4. CALCULATION OF THE INTEGRAL FROM (7)

Taking into account (9) in (7), we have:

$$J_s(x, \rho^n) = \rho^n \int_{x_0}^x \frac{(x-t)^{\frac{s+1}{n}-1}}{(\frac{s+1}{n}-1)!} e^{\rho^n t} dt + e^{\rho^n x_0} \frac{x^{\frac{s+1}{n}-1}}{(\frac{s+1}{n}-1)!}.$$

Let us substitution

$$\begin{aligned}
 J_s(x, \rho^n) &= -\rho^n \int_{x-x_0}^0 \frac{\xi^{\frac{s+1}{n}-1}}{(\frac{s+1}{n}-1)!} e^{\rho^n(x-\xi)} d\xi + e^{\rho^n x_0} \frac{x^{\frac{s+1}{n}-1}}{(\frac{s+1}{n}-1)!} = \\
 &= \rho^n e^{\rho^n x} \frac{1}{(\frac{s+1}{n}-1)!} \sum_{m=0}^{\infty} \frac{(-1)^m}{m!} \rho^{nm} \frac{(x-x_0)^{\frac{s+1}{n}+m}}{\frac{s+1}{n}+m} + e^{\rho^n x_0} \frac{x^{\frac{s+1}{n}-1}}{(\frac{s+1}{n}-1)!}.
 \end{aligned} \tag{10}$$

Substituting (10) into (4) for $h_{\frac{1}{n}}(x, \rho)$ we have

$$h_{\frac{1}{n}}(x, \rho) = \sum_{s=0}^{n-1} \rho^s J_s(x, \rho^n) = \sum_{s=0}^{n-1} \rho^{s+n} e^{\rho^n x} \frac{1}{\left(\frac{s+1}{n}-1\right)!} \sum_{k=0}^{\infty} \frac{(-1)^k}{k!} \frac{(x-x_0)^{\frac{s+1}{n}+k}}{\frac{s+1}{n}+k} \rho^{nk} + \sum_{s=0}^{n-1} \rho^{s+n} e^{\rho^n x_0} \frac{x^{\frac{s+1}{n}-1}}{\left(\frac{s+1}{n}-1\right)!}. \quad (11)$$

Now in (11) we substitute the parameter ρ with a new parameter $\lambda^{\frac{1}{m}}$, i.e., $\rho = \lambda^{\frac{1}{m}}$. Then we have

$$h_{\frac{1}{n}}(x, \rho) = h_{\frac{1}{n}}(x, \lambda^{\frac{1}{m}}). \quad (12)$$

Let $\alpha = \frac{m}{n}$, where m and n natural number, and at $1 < m < n$. At $n = 1$, then $m = 1$.

We calculate the following fractional derivative:

$$D^\alpha h_{\frac{1}{n}}(x, \lambda^{\frac{1}{m}}) = D^{\frac{m}{n}} h_{\frac{1}{n}}(x, \lambda^{\frac{1}{m}}) = \lambda h_{\frac{1}{n}}(x, \lambda^{\frac{1}{m}}), \quad (13)$$

Note that (13) follows from (1) and (2).

Taking into account the substitution $\rho = \lambda^{\frac{1}{m}}$ in (11), we have

$$h_{\frac{1}{n}}(x, \lambda^{\frac{1}{m}}) = \sum_{s=0}^{n-1} \lambda^{\frac{s+n}{m}} e^{\lambda^{\frac{n}{m}} x} \frac{1}{\left(\frac{s+1}{n}-1\right)!} \sum_{k=0}^{\infty} \frac{(-1)^k}{k!} \lambda^{\frac{nk}{m}} \frac{(x-x_0)^{\frac{s+1}{n}+k}}{\frac{s+1}{n}+k} + \sum_{s=0}^{n-1} \lambda^{\frac{s}{m}} e^{\lambda^{\frac{n}{m}} x_0} \frac{x^{\frac{s+1}{n}-1}}{\left(\frac{s+1}{n}-1\right)!}. \quad (14)$$

Thus, the Mittag-Leffler function with shear (1) through the exponential function is represented in the form (14). To check the result (14), consider the case, $\alpha = 1$, i.e., $n = 1$, $m = 1$.

Then from (14), we have:

$$\begin{aligned} h_{\frac{1}{n}}(x, \lambda) &= \lambda e^{\lambda x} \sum_{k=0}^{\infty} \frac{(-1)^k}{k!} \lambda^k \frac{(x-x_0)^{1+k}}{1+k} + e^{\lambda x_0} = \\ &= -e^{\lambda x} \sum_{p=1}^{\infty} \frac{(-1)^p}{(p)!} \lambda^p (x-x_0)^p + e^{\lambda x_0} = -e^{\lambda x} (e^{-\lambda(x-x_0)} - 1) + e^{\lambda x_0} = e^{\lambda x}. \end{aligned}$$

Thus, for $\alpha = 1$, the Mittag-Leffler function with a shear turns into an exponential Euler function $e^{\lambda x}$.

Keywords: Mittag-Leffler Function, Exponential Function, Rational Number.

AMS Subject Classification: 33E12, 34A08.

REFERENCES

- [1] Aliev F.A., Aliev N.A., Safarova N.A., Velieva N.I., Algorithm for solving the Cauchy problem for stationary systems of fractional order linear ordinary differential equations, *Computational Methods for Differential Equations*, 2020, Vol.8, No.1, pp.212-221.
- [2] Aliev F.A., Aliev N.A., Safarova N.A., Transformation of the Mittag-Leffler function to an exponential function and some of its applications to problems with a fractional derivative, *Appl. Comput. Math.*, Vol.18, No.3, 2019, pp.316-325.
- [3] Aliev F.A., Aliev N.A., Safarova N.A., et all. Solution of linear fractional-derivative ordinary differential equations with constant matrix coefficients, *Appl. Comput. Math.*, Vol.17, No.3, 2018, pp.317-322.
- [4] Samko S.G, Kilbas A.A., Marichev O.I., *Fractional Integrals and Derivatives: Theory and Applications*, Gordon and Breach Science publishers, Yverdon, Switzerland, 1993, 780 p.
- [5] Miller K., Ross B., *An Introduction to the Fractional Calculus and Fractional Differential Equations*, Wiley, New York, 1993, 366 p.
- [6] Lokshin A.A., Suvorova Yu.V., *Mathematical Theory of Wave Propagation in Media with Memory*, Moscow University Publishing House, 1982, 152 p.
- [7] Srivastava H.M. Some families of Mittag-Leffler type functions and associated operators of fractional calculus (survey), *TWMS J. Pure and Applied Mathematics*, Vol.7, No.2, 2016, pp.123-145.